A Y =

bL%E#5 <R BEwo “BF”

‘Pryyy
;'%Z', [{48E2

2019£E10H 5H(x)—6H (H)

— WEHE AA 18,000 [, 7hA 10,000 I FRERT (BFH5)
\

82 (BOBGAR 224

Eﬁﬁ% SFRAEETEEANOBEPESUICREDSIHHTR 50 mUTFDH

HEHE [FPs5E9s
WHTBEARERHILO HBX
BYINACTESEIA
BERNTAYIVT-YaY
@ = HHATHLEBA
K{TEEIITMHRE
ANV B EPRIRBIETRER
WS (REE - EEEES) A&
RA CHFELICLY)
OMmLEER Y- <FFEHROT-vaY
QJV-UT-JRE FIiviM1v
O<TEEESL I F-RBHEEMRK
WYBRRE
“®EE JU-uT-Y
WTFEREIIL ZEBEENTEA

7:30 NEBAIHE
JY-I7-IHFE FESEIVTA
8:50 @FFDILEEE KFEXEV1FU-FIE
KT EEFOCYKER
WMV LG RE QHERIM A
WULARSVICTCRE
O/0-/\-#f BsorvLEr-U [
o6 REEZE, #EIE. HEIOWT
(BEFHFDIIS—FEESE!)
OR(EEMIMEERERRE
O<TEEFZERIE PIHAMERRZF
Esns\ & LERPROEDSPIITA
FeHEMEBIEHRE
“'_!m_m.,._‘.‘“m’- 1732 WHhTBERH [FPsz285
e 20:04 FEE

ek *}%1 s r

[FxDE] S5 BHEER VooLPVWEEHEET  [IRITEERE] V7R (K [RFERT] RSN - VY7 (1K)



